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AST = 12.00 U.

W
AST = 18.00 u.
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M.S., MST = 1 2 0 0  OI.

W
MS., MST = 1 8 0 0  PI.
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pIi-  3.10
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Epoch m (%l~) n (%lG) n’  ('i"ah)

1900.0 3.072 34 1.336 46 20.0468

1950.0 3.073 27 1.336 17 20.0426

1975.0 3.073 74 1.336 03 20.0405

2000.0 3.07420 1.335 89 20.0383

a, =: a,+(3’.07327+  11.33617sincr,tan6,,)xN (3.15)

6, =x 6,+(20".0426cos  a,)xN (3.16)

c;l"aaeha  maqf&aw~ai%i  a, = 9' 10”  43’ 11RZ 6, = 14” 23’ 25” %pdg  1950.0 9W-l

Isw"aloalclrpd~~ala=I~nZiaw~~sle4rnlaq"~Ras~~%u~  1979.5

.
a0 =: 9' 10" 431, 6" = 14"23'25"

==  9’.178611 = 14O.390278

=: 137O.679 1 6 5

o7nimn73w"  (3.15)

aI = a,+(3’.07327+1’.33617sina,tan60)xN

LLpIwil  a, = 137O.679165, do = 14O.390278

N = 1979.5-1950.0 = 29.5 tl~%MlIJfllMJW!~i
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aI = 137O.679165 + (3?.07327+  1’.33617  sin 137O.679165  tan 14O.390278)  x 29.5

= 137'.679165+97'.470657

= 9' 10’ 43? + 97’.470657

= 9'12"201 B1QU

5llfl~9J"l5~ (3.16)

61 = 60+(20".0426cos  a,)xN

llVlUd1  a0 = 14O.390278,  a,, = 137".679165, N = 29.5 fldUtfWll5~U~~~~

6, = 14".390278+(20".0426cos137".679165)~29.5

= 14”.390278+(-437”.167111)

= 14”.390278-  437”.167111

= 14”.390278-OO.121435

= 14O.268843

= 14” 16’ 08” B1QpI
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= 360” t 365.2422

= 59 ’  8”.33

V&l = 3”  56?556
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A : 0.065 709 8 C : 1.002 738 D : 0.997 270

B :

1975 : 17.397 610 1990 : 17.373 487

1976 : 17.413 525 1991 : 17.389 402

1977 : 17.363 730 1992 : 17.405 316

1978 : 17.379 643 1993 : 17.355 521

1979: 17.395 558 1994 : 17.371 435

1980: 17.411 472 1995 ; 17.387 349

1981 : 17.361 677 1996 : 17.403 263

1982 : 17.377 592 1997 : 17.353 468

1983 : 17.393 506 1998 : 17.369 382

1984 : 17.409421 1999 : 17.385 297

1985 : 17.359 625 2000: 17.401 211

1986 : 17.375 539

1987 : 17.391 453

1988 : 17.407 368

1989 : 17.357 573
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98. H-I 222



cos ZX = cos 49"ll' cos 44"5'+sin  49"ll' sin 44”5’  cos 74”

= 0.6536 x 0.7183 +0.7568x  0.6957 x 0.2756

=  0 .6146

Z X  =  52”5’

= 90” - 52” 5’

= 37”55’
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sin Xz^P  = sin 74” sin 44”5’
sin 52’5’

= 0.9613 x0.6957 = 0 8477
0.7889

P

@ = 14”N

N

pJi+  3.17p-l)
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= 20’ 25” 44?4

6XldtJhtiU ¶ki~1JlQl20Uliafll25Ulfi  44'jld BIQU
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~~W&JW~~“RSJ  ZPX, ZP = ‘90”-45” = 45”,  ZX = 90” -30” = 60”.  XifP = 60”,

mqmcsncfl  A

cos PX = cos zx.cos ZP + sin zx sin ZP cos XZP

MWilU:l~

cos PX = cos 60" cos 45"+sin  60" sin 45" cos 60"

= 0.5x0.707+0.866x0.707x0.5
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= 0.660

PX = 48” 44’

. dll~fi~rta~~~osfll~~~~(X) = 90"- PX.

= 900-48044

= 41" 16'

sin Zi;X sin Xi‘P=
sin ZX sin PX

61891

sin Zi;X  = sin 60” sin 60”
sin 48’  44’

0.866x0.866=
0.152

= 0.997

zi;x  = 85"47'  = 5q43u

. ¶@'Jh'WJWll-Jqfd  (X) = 24v-5w43u. .
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